
             Προσθέσεις και αφαιρέσεις με ρητούς αριθμούς
             1) Να γίνουν οι πράξεις :
              (-5)+(+13) =                                                       (+23)-(+4) =
             (+5)+(+17)=                                                        (+12)-(+5) =
             (-34)+(-23) =                                                      (+4) – (-5) =
             (-41)+(-17) =                                                      (-3)-(-8) =
             (+13)+(-5) =                                                       (-12)-(+5) =

        
         2) Να γίνουν οι πράξεις :
           (-2)+(+8)-(+6)-(-10)+(-5) =
         
             (-3+5)-(-6-3)+(-8-4) =
        
             -2+3+6-8+12-16 =
       
          (-13+17)-(-5+2+14) +(+16 – 11-7) =

         - (1/2 + 2/3) –(1 -3/4) =

           (2 -1,3) –(-3+1,7) +(-5,2+0,8) =


